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1. P YRAE fopeheaean 2008 TerE 39 W W T Rady iasa Gerg WU TiRfauar

e ?

(1) wREE (2) s fEm

(3) e el 4) foi= Sgam

Name the Indian cricketer who has been chosen ‘ICC ODI player of the year-2008’.
(1) Zaheer Khan (2) Harbhajan Singh

(3) Mahendrasingh Dhoni (4) Virendra Sehwag

2. G fHaa e HISvaEE i oy SR o WU W §d ?
(1) 1980 - 81 (2) 1990 - 91 (3) 1993 - %4 (4) 1995 - 96
Recently which year is considered as “base year’ for measuring price Index ?

(1) 1980 - 81 (2) 1990 - 91 (3) 1993 - 94 (4) 1995 - %

3. Wi SR der e aRucsn wEaEa 3d 72
1) Uelfeqes UMY 9o ®R%Y (IRDP)

2) TUSTR &t IS (EGS)

3) UaIfcHs: ot TR AT (ICDS)

4) % ISR A5 (NRY)

Which among the following schemes does not come under the purview of Zilla Parishad ?

(
(
(
(

(1) Integrated Rural Development Program (IRDP)
(2) Employment Guarantee Scheme (EGS)

(3) Integrated Child Development Scheme (ICDS)
(4) Nehru Rojgar Yojana (NRY)

4. GO Y Foe AW fGE FrRHes TR ?

(1) T (2) F@

(3) Wy (4) TEATE

Which of the following States has bicameral Legislature ?

(1) Gujarat (2) Kerala

(3) Maharashtra (4) Madhya Pradesh

P.T.O.
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1905 W& SIS IV SIeon T el
(1) e FA 2) e A (3) i a=a (4) REEUE THEA

‘The partition of Bengal in 1905 was announced by .
(1) Lord Curzon (2) Lord Irwin (3) Lord Wavell (4) Viceroy Dufferin

SR DUTY ®US 4-21-20-25 ™ TALK =N

1) 20-11-2-10 @) 20-1-12-11
@) 20-11-21-1 4 20-11-1-21
If DUTY stands for 4 - 21 - 20 - 25, then TALK stands for
(1) 20-11-2-10 2 20-1-12-11
3) 20-11-21-1 4) 20-11-1-21

ARAT= 3.8, 2004-05 =1 31 Hafd groma Fafdor soe enfn ISR ffHden <

Lot Fasee T & & oA
(1) 9t IeureA () T 0 FHe AR
(3) A ge 9 (4) T w6

The focus areas identified in Exim policy 2004-05 of India for boosting export revenue and
job-creation are

(1) Agricultural products (2) Dairy and Poultry Products

(3) Auto components (4) All the above
eAfeeT=A ST AV STRf hIoTd! ?

O A VAN o % O ?
O XX O O A O °

¢ AN o A AN O O

3 4)
Dl g @ s o 96 & Y s A

Which figure will appear at question mark ?

O A VAN o & O ?
m XX O O AN O °
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9. Eehd S&AERl U HU

8,3, 16,6,24,9, 32,7

(1) 40 (2) 12 (3) 18 (4) 48

Complete the following series

8,3,16,6,24,9,6 32,7

(1) 40 (2) 12 (3) 18 (4) 48
10. WO AR HidE SO Aig foel 9 2

(1) =R (2 o H

(3) Tered sidt (4) e idt

Which name is given to Fish production revolution ?

(1) Green revolution (2) White revolution

(3)  Yellow revolution (4) Blue revolution
11. PET:NCR::LONE:

wfeean 99 weid faftre waed R, Red ST v shiorn ?

(1) JLc™M (2) JMLC (3) MICN 4) MLJC

PET : NCR: : LONE :

There is certain analogy in first two words. Which is the word in blank space ?

(1) JLCM (2) JMLC (3) MJCN 4) MLJC
12. ‘9@’ (SAPTA) FR %egl Hff-ad el ?

(1) 1993 (2) 1995 (3) 2005 (4) 2007

When SAPTA (South Asian Preferential Trade Agreement) pact was executed ?

(1) 1993 (2) 1995 (3) 2005 (4) 2007
13. T 9 faee I o ‘AYen TR’ SATIREE! heet Gl el 2

(1) 2008 (2) 2007 (3) 2006 (4) 2009

When did the ‘Nathula way’ connecting Sikkim and Tibet opened for trade ?

(1) 2008 (2) 2007 (3) 2006 (4) 2009
14. H GHINE AN SFeRAA (‘Balance of Payment’) 3T el Bl ?

(1) @& (2) e (3) faw=n (4) =
In which plan the ‘Balance of Payment’” was positive ?
(1) Sixth (2) Fifth (3) Third (4) Fourth

P.T.O.
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IRATT TS Il HAHHR SEhIad TodTerd Wester foel e ?

(1) 153 (2) 158 (3) 163 (4) 164

Which article of the Indian Constitution gives discretionary powers to State Governor ?
(1) 153 (2) 158 (3) 163 (4) 164

16.

A1 FaR WUae 9EehR] TaqRad] S 3Teqed i TAYRaa] HvAES! TR
1) g (2) TRRIE T TEhRI ST
(3) HEHRRI YUH FEA (4) afheR FY gaqEar Heen

are the grassroot level co-operative societies for disbursement of short-term
agricultural credit.

(1) NABARD (2) Mahrashtra State Co-oprative Banks

(3) Co-operative Marketing Societies (4) Primary Agricultural Credit Societies

17.

favTTTRd Hiehes! ST, WeIeh ST WISH S dlehi=a] ST SIS v
HEHH =g .
(1) S SR () Wt (3) SR @) fo=m

department has enforced the programme of tree plantation in open area,
public and private places with the co-operation of the people.

(1) Social forestry (2) Agriculture (3) Forestry (4) Irrigation

18.

A T IO dH for Y. Srera e, o7fYT AR SrEtee ge 9 fon . S, IR Seies 96 dl
1 fop. 1. <=TeTen, AH SSEighe ded dl Wd i foh. M. =Tetelt, W A 71 Hemeiean SR vl
fovra 3 Tt ofauear e/t ?

(1) 1 fe. sufn & 2) 3w sufon <o

() 4f&w onfor gd (4) 5w onftr ofyem

‘A’ walks a distance of 3 kms. towards North, then turns to his left and walks for
two kms. He again turns left and walks for 3 kms. At this point, he turns to his right and
walks for 3 kmts. How many kms. and in what direction is he from the starting point ?

(1) 1 km. and East (2) .3 kms. and South
(3) 4 kms. and East (4) 5 kms and West

19.

2001 =1 SFTHTER STl eI SH-Jey el o sifuss o ?
(1) W (2) IS () * (4) TR

As per the 2001 census which of the following States has the highest sex ratio ?
(1) Maharashtra  (2) Nagaland (3) Kerala (4) Gujarat




"ALM 9

20. TN SRR sTEeem SAfed g Ty fega .
(1) St (2) R AU
3) fefe =@ sfauaia (4) FAdR! FHIorR e
A person suffering from Myopia is unable to observe clearly the objects at
(1) short distance (2) long distance
(3) distance of distinct vision (4) none of the above
21. N AW T oTfegten wafd Tea a1 SR S,
(1) e aEE  (2) 99 () TRAEEE @) W
In Maharashtra State is the most important forest produce on the basis of
economic value. '
(1)  Fire wood (2) Bamboo (3) Timber wood (4) Tendu
22. WRATIE UG Ie4 GAFH HAld T A2
(1) T ) fafern
(3) STETEA oW (4) T
In terms of area which is the smallest state in India ?
(1) Goa (2)  Sikkim
(3)  Arunachal Pradesh (4) Tripura
23, e doeiite ASHeReie SUed MR Jifts g2 B,
(1) 730 %l = (2) 30 I % (3) 108 Il %. (4) 2730 1T %
The average annual trade deficit during the first plan period was .
(1) Rs. 730 crores (2) Rs. 30 crores (3) Rs. 108 crores (4) Rs.2730 crores
24. ' IAEE A (ozone) feag’” B I feead g 3y ?

(1) 16 3= (2) 16 LM

(3) 16 =R 4) 16 fed=R

Which day is observed as International Ozone day ?

(1) 16t of August (2) 16 of September
(3) 16t of November (4) 16t of December

P.T.O.
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‘oo FrliS o fashrarsar’ ST 10 STEdK 2

(1) TeTREA

2) SRl

() fawmir s

4) e need! el do e

Who is the Vice-President of ‘District Planning and Development Council’ ?
(1) Guardian Minister

(2) District Collector

(3) Divisional Commissioner

(4) Chairman, District Central Co-operative Bank

mﬁmﬂmﬁaaﬁﬁaﬁmm‘m’nﬁmm?

26.
(1) fous (2) TW (3) vwan (4) T TR 3
In which method of Irrigation the Soil moisture is always kept at Field capacity ?
(1) Drip (2) Sprinkler (3) Lift (4) Flood
27. SREEA €W SEevar SR RS .
(1) Tai= =R (2) THHIE YA
(3) AT TPl (4) IRAT WER

The power of alteration of boundaries of States rests with
(1) The Supreme Court of India (2) The Speaker of Loksabha

(3) The President of India (4) The Parliament of India
28. Heaatdd U (=2) " Hiof el ?

(1) TS . 9. |t (2) TR Hft

(3) . Meites afirdt : (4) G aftdt

Who recommended Value Added Tax ?

(1) L. K. Jha Committee (2) Hajari Committee

(3) Dr. Gadgil Committee (4) Rekhi Committee
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(1) A= faehm™ 3Teard 2006

(2) HIHEs faeh™ 3Tgard 2005

(3)  SIFTfeR foehrd a7gare 2005

(4) Sifaer faeRrd 3T8ame 2006

“Beyond Scarcity : Power, Poverty and Global Water Crisis” is the theme of

(1) Human Development Report 2006

(2)  Human Development Report 2005

(3)  World Development Report 2005

(4) World Development Report 2006
30. AU S el S UATH geard aare STBSTSH .

(1) 10 (2y 20 3y 30 4y 35

A modern layer starts to lay around weeks of age.

(1y 10 2y 20 3y 30 4y 35
31. el fUshmed Wreiierden! oK fueh A= steren Hed ?

(1)  sfafam (2) e (3) feetdin (4) foefn

In maize, which is the growth stage among the following.

(1) Arrowing (2) Jointing (3) Tillering (4) Silking
32. WG TNEE Hald AfuE TN 3@ ?

(1) ¥ (2) ey (3) i (4) @mEH

Maximum area under coffee is found in the State of .

(1) Kerala (2) Tamil Nadu (3) Karnataka (4) Assam
33, ‘SRuH Hidl' AfTETE= S GARN Hetid T8 ?

(1) oy 3= (2) el SR

(3) @A (4) VIt & gatior faem

‘Rainbow Revolution” is related to which sector of Economy ?

(1)  Small Scale Industry (2) Information Technology

(3) Mining Sector (4) Overall development of Agricultural Sector

P.T.O.
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GreiTedeh! hIUTd! HAT SRR A ?

51, 66, 87, 94.

(1) 51 (2) 66 (3) 87 (4) 94
Which of the following number is not similar to others ?

51, 66, 87, 94.

(1) 51 2) 66 (3) 87 4) 94

35. GEMIEA AifFciaoren U=l ded SANTS =1 FaerH Y@ W] .
(1) s ERfET (2) YEEEE g
(3) GAHHTEH Y (4) e T

During the process of the integration of Princely states the chief advisor of Nawab of
Junagadh was

(1) Raja Harisingh (2) Shahnawaz Bhutto

(3)  Zulfikarkhan Bhutto (4) Qasim Razvi
36. UEATE-GrAT ST UM ST shivrd! 2

(1) (2)

() % (4) ;

What is the appropriate figure at question mark ?

— D A7

37.

(1) (2) K % (4) ;

(3)
arEe] A= HEE _ B
(1) 1951-55 (2) 1980-85 (3 1995-2000 (4)y 1974-79
The duration of the fifth plan was .
(1) 1951-55 (2) 1980-85 (3) 1995-2000 (4) 1974-79
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38. ®H T HY
338, 211, 120, 59,
(1) 18 (2) 22 3) 35 4) 37
Complete the sequence.
338, 211, 120, 59,

(1) 18 (2) 22 (3) 35 4) 37
39, g T gt 71 R S SR,
1) TSfeaw 2) Taso (3) W (4) SIS
Sundar Rajan Committee is related to .
(1) Petroleum (2) Eduation (3) Health (4) Small Industries
40. YRAEREHEA Fifoea e g Idendar T8 wREE T (T 0 S T) el
THId & e,
(1) 1996 (2) 1990 (3) 2000 (4) 2005

The Govt. of India, Ministry of Commerce launched “National Programme for Organic
Farming (NPOF)” in the year

1) 199 (2) 1990 | (3) 2000 (4) 2005

41. fecamers deosht famrdes RIS

1) R (2) e (3) e (4) TR

Ahilyabai Holkar airport is situated at .

(1) Indore (2) Bhopal (3) Nanded (4) Nagpur
42, WRAW TRFTOAT Y i A S,

1) 2 @) 5 3) 8 4) 10

In India Animal census is taken every __ years.

1 2 @) 5 3) 8 (4) 10
43, ‘T T QEtel =9 A1 T o 7 3.

(1) <R (2) fed &

(3) SMF. TRA (4) eRAfIRN arsuE

‘Dynamic of Social Change” is written by .

(1) Chandra Sekhar (2) V.P.Singh

(3) LK. Gujral (4) Atalbihari Vajpai

P.T.O.
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wreht g gen faftrse wum feoiean smed. @ oW sTegr e st Jurdt wen fomn
3,7, 15, 31, 63,
1) 126 (2) 109 (3) 127 (4) 94

There is a specific sequence of numbers in the following series. Find out the sequence and
complete the series with the correct alternative.

3,7, 15, 31, 63, .
1) 126 ) 109 3) 127 (4) 94

WIS OSSR S0 ek =l FHIER Bl 2

(1) goa & (2) A &

(3) Hedia 9 ewEudd 9 | (4) ATIRT THL TR
What does the Indian Money Market consist of ?

(1) Organised sector (2) Unorganised sector

(3) Organised and Unorganised sector (4) None of these

45 =1 TENE T4 foade Q= faai Wiges SIS 3et ?

(1 g (2) e (3) A (4) SNTER
Where was the 45th Maharashtra State film award function held ?
(1) Pune (2) Mumbai (3) Malwan (4) Aurangabad

MM EL T, 1978-79 T hioedl WA= SAqemearel! g% Svdrd 3Tl ?

(1) wtor fass - (2) T e

(3) T TR (4) FfO

The IRDP was launched during 1978-79 under the ministry of
(1) Rural development (2)  Rural rehabilitation
(3) Rural reconstruction (4) Agriculture

IR foemusn 39 one, sifSa Aeriausn 39 o, giva araen 39 o, ikl giswuan 39 o
W Faid HHT = T 2
(1) gfva (2) 9MW (3) fasa (4) eied

Sagar is taller than Vijay. Ajit is taller than Shrikant, Sujeet is taller than Sagar. Shrikant
is taller than Sujeet. Then who has least height ?

(1) Sujeet (2) Sagar (3) Vijay (4) Ajit
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49. fo@Ta IR 3iesw
(1) UVEF (2) ZYAB (3) XWCD (4) TSGH
Find the odd one from the following :
(1) UVEF (2) ZYAB (3) XWCD (4) TSGH
50. WA PUpUThS fesfiatiismes & g vl Thanfeiy TRUFAI,
(1) oS (2) FUpd qfeit
(3) THarteral i wrE (4) HIAR URH
A blood vessel carrying deoxygenated blood from the heart to lungs is called :
(1) Pulmonary vein (2) Pulmonary artery
(3) Ramus (4) Receptor organ
51. Jrftor siehie TG HvATS! FRIRRE vl heft 2
(1) o wiw (2) e At
(3) Haferar wftrdt (4) T Rfde afd
Which committee recommended the establishment of Rural Banks ?
(1) Saraiya Committee (2) Chelliah Committee
(3) Mudaliyar Committee (4) M. Narasimhan Committee
52, HERIEE! i) && fohdt oM ?
(1) 620 &t (2) 700 f&.t (@) 720 f& (4) 820 fep.t
How much is the South-North width of Maharashtra ?
(1) 620 Km (2) 700 Km (3) 720 Km (4) 820 Km
53. 3TEIEel RSN GITTTieh! HIOR] Teola Haeie e ?

(1) Gqol eTiaRer T (2) 9

@) fafeo (4) AfdH
An optical fibre works on the principle of :

(1) total internal reflection (2) refraction
(3) scattering (4) interference

P.T.O.
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54. =1 SIS THO AN 25 T |31 YRAW 27,
1) <&ArE (2) T (3) «rEm (4) drentEm
About 25% of world’s total reserves are in India.
(1) Plutonium (2)  Uranium (3) Thorium (4) Polonium
55. HIEH! W HO STHer] 2007 HEd hIv STerRed W0 hRqurei=n Ty el ?
1) fa== 2000 (2) & - SARE 2006
(@) faem =i (4) UM - wR
The latest computer operating system which was launched by the Microsoft Corporation
of the US in Jan 2007 :
(1)  Windows 2000 (2) 1T - Asia 2006
(3) Windows Vista (4) Pentium 1V
56. DHLP @& vieg faftre famgen fafeen ome. @i v=iae! &1 fom arges a1 Famgan
fetfeeten wee sHesd.
(1) BEHK (2) JNLP (3) KOSW (4) SOKG
A word DHLP is written according to certain rule. Apply this rule to the following words
and identify the word which follows this rule.
(1) BEHK (2) INLP (38) KOSW (4) SOKG
57. 1889 U= T Hag A9 IR TS e kel
(1) wfester g (2) Bl AFETE el
(3) THISE TS (4) dfear e
In 1889 started ‘Sharada Sadan” in Mumbai.
(1) Savitribai Phule (2) Dr. Anandibai Joshi
(3) Ramabai Ranade (4) Pandita Ramabai
58. TUTSAT QAT T d STAR A ST Shioed] ST 3HANT Sidmd ?

(1) oigd=® () wfedsw (3) HUdEl-SAdd®  (4) HHAG-AEHH
Dentist uses a ___ mirror for examination and treatment of the teeth of the
patient :

(1) concave (2) convex (3) Plano-concave (4) Plano-convex
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59. 3TE sAfeTreTdd TumER-= Tad YR =i qAfdeihrear e g, Wy Afaws T
T ad IRISE g e Afaaie e SREM T 9 3. @ @ed SVl ?

(1) 9. 3N Fg faeg AfeTg T
(2) oTga afaw fasg faer T
(3) 31 WreHl faeg YRd TR

(4) W faes difteTg T

Until recently 9t schedule of the constitution was above the purview of Judicial Review.
However in recent judgement even that has come under judicial Review. Which is that
judgement ?

(1) LR Coellho v/s State of Tamilnadu
(2) Abdul Latif v/s State of Bihar

(3) Indra Sawhney v/s Union of India
(4) A. Suresh v/s State of Tamilnadu

60. SR 135S + X —< § 978 BUN @ * > = § 3T W=+ X < > g HIV! H&A T feredl
WTge ?
(1) 42587 (2) 45728 (3) 84257 (4) 47852

If 1235 means + X —<and 9478 means ® * > =. In the same way, which of the following
alternative indicates =*X<>?

(1) 42587 (2) 45728 (3) 84257 (4) 47852
61. ‘difa sTAfquRm’ = T A e,

(1) . dSmeRE e (2) <. A TSt e

(3) <. IEHRE HdSH (4) STURTEH TR

‘Bombay Association” was founded by .

(1) Dr. Punjabrao Deshmukh (2) Dr. Bhau Daji Lad

(3) Dr. Babasaheb Ambedkar (4) Appashastri Khadilkar

62. STFTIMR TTEAAES IV A1 ST ?

(1) e (2 TEgH

(3) HEA THAES (4) T HHRIES
Which gas is used in fire extinguishers ?

(1) Oxygen (2) Hydrogen

(3) Carbon dioxide (4) Carbon Monoxide

P.T.O.
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OT X
=S =25@ ==?
63. S — ®
1) 12 2) 16 (3) 24 4) 36
oT IX
=250 =
If =
1 12 2) 16 3) 24 4) 36

S CA N

P'L'S"?

1 X 2 Q 3 N 4 N
I @ T 3 T @
Which letters should come at question mark ?

cerT??

P'L'S"?

L X ) 4 N 4 N
M 35 @ T ®) 1 @

65. YRAMHE HIUET ST SF 2006 | $e2 T S0 STHER Biell ?
1)y wiATTE (2) SLUHTAUE () STETLTA  (4) WRdA

Which of the following internet service providers enjoyed the dominant position in India
in 2006, June ?

(1) MTINL (2) BSNL (3) VSNL (4) Bharati

66. T T SHUN HEA IO ?
11, 13, 15, 17
1y 11 (2) 13 3y 15 4) 17
Which number does not belong to the group ?
11, 13, 15, 17
1) 11 2y 13 3y 15 4y 17
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67. TIRIY AN 1997 FEH SR 3§01 TWROH T’ JHeA! Bt 2
(1) RIS GUR TR RIERET = 19| ShivarEr.
(2) TFTIEEAS JURhG § AfE aetde,
(3) TRURERT d HEFTRATfcTeRT Ao STehTeIforait.
@) foeg aftwe=n fagus guronfa.

In 1997, for what purpose Government of Maharashtra appointed ‘Bhushan Gagrani
Committee’ ?

(1) To study recommendations of Administrative Reform Commission.

(2) Administrative and Financial matters of Gram Panchayat.
(3) Octrai of Municipal Councils and Municipal Corporations.
(4) Election Reforms of Zilla Parishad.

68. TAA-20 HAlfeA WHo fgean fava=res fhehe Teidia ‘ mifcepeit’ il ?

(1) e (2) freE3qEE (3 SSIM (4) IR SRKE

Who was the ‘Man of the Series’ in the first twenty-20 world cup cricket tournament ?

(1) Yuvaraj Singh (2) Misbah Ul haq (3) Brad Hogg (4) Shahid Afridi
69. THEAE S Il IRHER T TUAT YHIOT 379

(1) 50 (2) 65 3 70 4) 75

A body of new born calf contains per cent water.

(1) 50 2) 65 3) 70 (4) 75
70. TGl fRed LM eVl Ua Hedmrd THEiS 90 .

(1) 3w = (2) HARTEA e

(3) ol e (4) HaAREH Fehe

The major chemical compound found in human kindney stone is

(1) Uric acid (2) Calcium Carbonate

(3) Calcium oxalate (4) Calcium sulphate

71. ‘' SITfdeh WERAT &’ WU ShIvra feod |Is shefl Sl ?
(1) 5 HLR (2) 8 YW (3) 13 IR (4) 21 AW
Which day is celebrated as “World Literacy Day’ ?
(1) 5% September (2) 8th September (3) 13th October (4) 215t November

P.T.O.
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72. QAT AAERVIAE IVl TR GG Sgaieil IeMIS! Teard ?
(1) THRIEER ) EIERER (3) SMEE{ER (4) EfER
In which layer of the atmosphere of earth do most weather phenomena occur ?
(1) Exosphere (2) Stratosphere (3) Ionosphere (4) Troposphere
73. @ISl STehdl SR WeAfa=gr=al SRl Ao sia ol
76 | 39 | 47
49| 7 |92
63 | 15 | 85
(1) 68 2 79 (3) 87 (4) 98
Study the following figure and find out the missing number in place of the question mark.
76 | 39 | 47
491 7? |92
63|15 |85
(1) 68 2 79 (3) 87 (4) 98
74. EHH A THE0 Hio SrEiet 9 ed ?
1) foa<ia aq@ (2) SfESTFRI TR
@) e TS @) TR FRE TR
Which things are emphasised in Government Audit ?
(1) Financial Provisions (2) Budgetary Provisions
(3) Money Provisions (4) None of these

. 75.

U= gams) fom @ afeen 39 AR, 907 df Aasaen 9 A6 Sed 8 foeiden $9 9o
TfYaeT St I AR, A M Faq 39 I ?
1) 4 2) = 3) fam= (4) TAf=a o o A

Among five boys, Vinay is taller than Manish, but not as tall as Ravi. Jacob is taller than
Dilip but shorter than Manish. Who is the tallest in their group ?

(1) Ravi (2) Manish
3) Vina 4) Cannot be determined
y
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76. ' FEHS B’ ;i GE e,
(1) 7. HSTene e (2) Vg HERS
(3) WISUE URA (4) RS ol %, FS
‘Shradhanand Chhatralaya, was started by .
(1) Dr. Punjabrao Deshmukh (2) Shahu Maharaj
(3) Bhaurao Patil (4) Maharshi D.K. Karve.
77. SHARI 2007 TRHA WETETdh! SV SHIE SR Qe TEmdie drehi SR fom
AT gE A e 3T ?
(1) 7Y 9eu ) i
(3) wAREH (4) ftem dTa
Which of the following State Govts. has decided to provide health insurance scheme to
people living below the poverty line with effect from Jan, 2007 ?
(1)  Andhra Pradesh (2) Orissa
(3) Karnataka (4) West Bengal
78. W R : A W geAs ;2
(1) fseA (2) 9 (3) amfter (4) aArefan
If India : Asia then England : ?
(1) Briton (2) Europe (3) America (4) Australia
79. ‘R Higt' § WEwEr THeT T I TR SE ?
(1) et (2) enfam
(3) STEUEE WY (4) STEM
In which State ‘Kamakhya Temple’, the important place of tourism is situated ?
(1) Nagaland (2) Orissa
(3) Arunachal Pradesh (4) Assam
80. RATEAl YEUAIG! a€ vl Tham 2

(1) wqyeE (2) ST

(3) <ArHHYT AT (4) F&=A T (Electoral college)
Who elects the President of India ?

(1) Prime Minister (2)  Vice President

(3) Speaker of Loksabha (4) Electoral college

P.T.O.
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81. 2000 WIEll WA HEUSA hIoAl o= a1 woi=t it sedt 2
(1) e, STevee Few, fieikm
) TAETE, TREws, fHeRm
(3) THIWTE, SHEE, EE
(4) TGS, BuETe, fHgRm
In the year 2000 which three States were established in Indian Federation ?
(1) Meghalaya, Arunachal Pradesh, Mizoram
(2) Chhatisgarh, Gorkhaland, Mizoram
(3) Chhatisgarh, Uttarakhand, Jharkhand
(4) Uttarakhand, Chhatisgarh, Mizoram
82. WeficTdsh! hive WiH J=Tad T3 Weeiv elftrd i 2
(1) woeatE Ted afidt, @ ot aee afbd
(2) oTeieR el Afid, IHaUd S it
(3)  TSHAR i, freme |ttt
(4) Sy TEd witd, T Tedl aftd
Which of the following committees are not related to Panchayati Raj Institutions ?
(1) Balwantrai Mehta Committee, P.B. Patil Committee
(2) Ashok Mehta Committee, Vasantrao Naik Committee
(3) Rajmannar Committee, Shivraman Committee
(4) Balwantrai Mehta Committee, Ashok Mehta Committee
83. WIeHelieh! U qT fEharen el rid 2
1) W (2) gEE T
(3) foEa o @ (4) TEWT
Which of the following waves are not associated with seismic activity ?
(1) P waves (2) Surface waves
(3) Electromagnetic waves (4) S waves
84. Jieh 8 ol TR fepet arsTeret fewdiet 2
1) 4 2 8 @) 5 4) 3

What time will be shown in a mirror when a clock shows 8 O’clock ?
1 4 2) 8 3 5 4) 3




ALM 23

85. ‘T’ SoMyaTeAl ET e Bral.
(1) HeTHed Yegd (2) oS
(3)  TdiEesqun (4) SfTEn
Vitamin ‘D" deficiency causes .
(1) Rickets in children (2) Beri-Beri
(3) Night blindness (4) Anaemia
86. W TR TR EIRUTA] SAGTEAEES! 1962 HEA SVl Hie! THefl B 2
(1) TN Gfad (2) Yefaar wibd
(3) =had] | (4) €. T wid
In 1962 which committee was appointed by Indian Government for export promotion ?
(1) Hajari Committee (2)  Mudaliar Committee
(3) Chakravarti Committee (4) C. Rangarajan Committee
87. Weirdl Hedi= fo=R &3 :
() Te A TFeed 10 JEd Hacdi=n Taee 3.
(1) 379 6 9 14 AN qiedrel o=t e Iueey e QU & Welehis HAyd hded
318,
(1) (1) = (1) STl =R e 2) ()3 (1) R IE AR
(3) (1) SRR TR | (4)  (II) SRR 3T
Consider the following :
(I)  There are 10 Fundamental duties enumerated in the existing constitution.
(II) To provide opportunity of Education to his children between 6 to 14 years is the
fundamental duty of the parents.
(1) (I) and (II) are correct (2) (I) and (II) are incorrect
(3) Only (I) is correct (4) Only (II) is correct
88. WEIEIsh! 0T T & AL,
(1) " (2) FEHTA (@) (4) TR
Which of the following does not belong to the group ?
(1) Mumbai (2) Kolkata (3)  Chennai (4) Nagpur

P.T.O.
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89. el == faaR w&T Ia fome

(I) SRl L9 1985 Hed TRt A9 STel.,
(1)  wreR=t 2008 =i forer uRug 761 fooedt a9 e,
(IIT) STETIVRAH & Trehaed AT Tearht et T 3.

(1) & (I) TR R (2)  (11) 37T (111) S 3T
(3) (1) 3nfor (1) TSR 3 4) w4 foTd I oA

Consider the following :

(I) SAARC was established in 1985 at Dhaka

(IT) SAARC Summit of 2008 was held at New Delhi

(Il) Afghanistan is the newly admitted member of the SAARC

(1) Only () is true (2) (1) and (III) are true
(3) () and (IIT) are true (4)  All three are false
90. WERIEN Hald S SRUATY & I Feala 3T ?
(1) faggd (2) et () T (4) em
Which district of Maharashtra has the maximum area under forest ?
(1) Sindhudurg (2)  Gadchiroli (3) Chandrapur (4) Bhandara
91. HENIY AT Hifed! & SHUh HerHaTeHIerars odi SudKd J0R1 TR feweh S e
REHR ~2007 T AR AT,
(1) TfE Teaeraht (2)  HU drSTiEER
(3) UM vg™ (4) Trerhe Efeae
Lokmanya Tilak Jeevan Gaurav Puraskar-2007 awarded by Government of Maharashtra’s
Information and Public Relation Directorate was given to .
(1)  Govind Talwalkar (2) Mangesh Padgaonkar
(3) Rajaram Deshmukh (4) Nilkanth Khadilkar
92. R CLOCK = 44,

TIME = 47 @

WATCH = ?

(1) 45 (2) 55 (3) 52 (4) 50
If CLOCK = 44,

TIME = 47,

Then find out the value of WATCH.

(1) 45 (2) 55 (3) 52 (4) 50
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93.

TS 3o Germ A= ST S 10 JUigal 50 99 Bt O 20 THAR AT Fart s} foha)
318 ?

(1) 80 (2) 110 3) 70 (4)y 100

Sum of ages of father and his son before 10 years was 50 years. What will be the sum of
ages after 20 years ?

(1) 80 (2) 110 3y 70 (4) 100

94.

0.40 I SIS HYY FUhrd 60 /T 1 JAO TS Ga oo SeAE Be 3w ey
garE! T A6 AR,
1) 20 fF/T (2) 24fF/® () 40 fF/T 4) 60 fw/z

Cotton crop is to fertilize with 60 kg/ha, required quantity of fertilizer through muriate of
potash for 0.40 ha is

(1) 20 kg/ha (2) 24 kg/ha (3) 40 kg/ha (4)y 60 kg/ha

95.

1966 & T TAIHT HLUATHRTE HRO HI0TH 2
(1) fEfdd ore Tree ST,

(2) SR T HH HO,

(3) HURREIN THe! HTU.

(4) = gd

What are the causes of rupee devaluation in 1966 ?
(1) Increase in export

(2) To reduce the volume of import

(3) To create favourable balance of payment
(4) All the above

96.

TERIPN JTRUR Heodod = TORMIST Yehedd Uieidl It _ T e §E Hal.

(1) e 3l (2) STTesH

(3) €H = (4) O T

Mukundrao Patil started a weekly for spread of Non-Brahmin Movement in
Maharashtra.

(1) Bhagawa Zenda ' (2) Jagaruk

(3) Din Mitra (4) Tarun Maratha

P.T.C.
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97. WAl [gETd 314 = el
kngro, dgjif, behgd, psvur
(1)  kngro (2) dgjif (3) behgd (4) psvur
Find out the odd set of alphabets from the following.
kngro, dgjif, behgd, psvur
(1)  kngro (2) dgjif (3) behgd (4) psvur
98. WIETIHR I 3G TR @eah (HTHIhE eh) Hed T AR ?
1y = (2) s (3) FeERe (4) WM
Which among the following is not included in metamorphic rocks ?
(1) Slate {2)  Marble (3) Calcite (4) Granite
99. UMY W= FIK U fFAA _ Hel Hded S
(1) (2) =W (3) U 4) @&
The meetings of the Gram Sabha is to be conducted at least times in a year.
(1)  Three (2) Four (3) Five (4) Six
100. WRATHE GHAAT HHIHTH] Falq oid T&t 0w ?
(1) Tm (2) Ty (3) T (4) e
Which is the Second longest river in India ?
(1) Ganga (2)  Indus (3) Narmada (4) Godavari
101, ‘wifoek Ares feA’ 1 el WS shell ST
(1) 2| R (2) 8 ¥F LW
(3) 27 W (4) 28 HWC
"World Coconut Day’ is celebrated on _ .
(1) 2™ September (2)  8th September
(3) 27 September (4) 28t September
102. VWX Y 28503 aied. V X Z 30 310 simeredl, WX Y 1 §iEe $f/asd. VW Z i1 hadl
AEEAE. W X Z A e SESad. VY A S SEedd. W IOl S Wes hivmen
Argsard ?
(1 Vv (2) W 3) X 4) Y

VW XY Z are five friends. V X Z like mango. W X Y like apple. V W Z like Banana. W

X Z like grapes. V Y like cherry. Then who likes any two fruits ?

1 Vv 2) W (3) X

4 Y
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103. ST ACT+AT=11
T ACT TS iUl HE&AT 8e ?
(1) 426 (2) 264 (3) 624 (4) 642
If ACT+AT=11
then what is ACT ?
(1) 426 (2) 264 (3) 624 (4) 642
104. g frpmed qfl SEeenIIe! ol HagTeia STae v 2
(1) TP Feu (2) i 918
(3) FE T (4) P Aw
Which is the most critical crop growth stage for irrigation in wheat ?
(1) crown root initiation (2) jointing
(3) tilloring (4) flowering
105. ‘HeIREsh FHSTHT TT9] RIRICISIE
(1)  TETHr Sfden el | (2) T AR
(3) AT IS T (4) =TI TS
was the founder of Satya Shodhak Samaj.
(1) Mahatma Jotiba Phule (2) Raja Rammohan Roy
(3) Swami Dayanand Saraswati (4) Justice Ranade
106. JEIciish! &I famifas Fdg 3T ?
(1) CgHy Oy (2) CigH3 O, (3)  CyHz O, (4) CypHy O,
Which of the following is linoleic acid ?
(1) CiHzp O, (2) CiHy O, () CyHz O, 4)  CyHy O,
107. 9YAE T ZEATAT FHACIS B,
(1) T (2) Hierm (3) THfer (4) W
Diabetes is caused because of deficiency of : )
(1) Glucose (2) Calcium (3) Insulin (4) Sugar

P.T.O.
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108. i Y VX HR ey Rad = 9™ 2005 Al 1 &3 w9 FER Hel.

(1) Yesl SrERY= a8 W

(2) IR femee=n girm wRifem fafga sy it
(3) MfvEEh HAT FATAIA

(4) TS 9O IARA

In which area the Indira Gandhi Centre for Atomic Research made significant progress in
2005 ?

(1) New applications of radioisotopes

(2) Reprocessing the Uranium Plutonium mixed carbide fuel of Nuclear Reactor
(3) Nuclear waste management
(4) Production of heavy water
109. ‘GURE' FUH BN GE Ha?
(1) TS e (2) e T g
(3) .. Tes MR fezh (4) UGS O] SRR
Who started ‘Sudharak’ newspaper ?
(1) Gopal Krishna Gokhale (2) Gopal Hari Deshmukh
(3) Bal Gangadhar Tilak (4) Gopal Ganesh Agarkar.
110. TH Fad ‘x’ = 'y’ W <1 oy oM a9 ‘y/ =0 ‘x’ M 37ME, a0'x’ anfon 'y’ & 3.
(1) T g g (2) &g G
(3) W& a T (4) o I AT
In a family 'x’ is related to ‘y’, in the same way ‘y’ is related to 'x’. Hence ‘X" and ‘y’ are
(1) Husband and wife (2) Sister and Sister
(3) Brother and Sister (4) Mother and Son
111. _ wiadd | Yehed HeleT $el iy faemdte, Tgh 349 gF IR,

(1 g (2) et (3) EEm (4) STHETER]
Research project on buffalo is in progress at Mahatma Phule Krishi Vidyapeeth,
Rahuri.

(1) Surti (2) Pandharpuri (3) Mehasana (4) Jafrabadi
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112.

(1) SEEmE o (2) @) et (4 fER ey
The study of handwriting analysis is called .
(1) Dectelography (2) Telegraphy (3) Graphology (4) Fingerprints

113.

e BT A Ueh TEe Tuel el sy fehan st Aia wor w1 A= s € A e
T R, T A BT HIUME B 2
(1) =GR (2) N @S (¢) e e (4) o e

Pointing to a photograph a man said, “I have no brothers or sisters but that man’s father
is my father’s son”. Whose photograph was it ? :

(1) Hisson’s (2) His own (3) His father’s (4) His nephew’s

114,

26 AR 2008 TSN Gagadl Sevarel FedMa Tehadld TSI Feiedl ‘W T el
oftwea’ fordt TEwT 3med ?
(1) 52 (2) 54 (3) 66 @) 76

How many members are there in ‘"Maharashtra State Security Council recently constituted
after terrorist attack on Mumbai, 26th Nov. 2008 ?

1) 52 (2) 54 3) 66 @) 76

115.

TR THIV FFY diead SR, ST I 0T dh 8 HIVRIT AV 3W I ?
(1) 50:15:35 (2) 40:20: 40 (3) 35:30:35 (4) 20:40:40

In what proportion Regional Rural Bank’s (RRB’s) capital is subscribed by Central
Government, State Government and sponsored bank ?

(1) 50:15:35 (2) 40 :20:40 (3) 35:30:35 (4) 20:40:40

11e.

W@WWWWH&TMW?

(1) 9 1904 (2) -1 1804 (3) |1 1947 (4) 911952
In India, first cooperative act was passed in the year .
(1) 1904 (2) 1804 (3) 1947 (4) 1952

117.

S 65+23=35, 38+75=58, 81+24=41, A 49+27="?

1) 67 2) 79 (3) 64 @) 96
If 65+23=235, 38+ 75="58, 81+24 =41, then 49+ 27 =7
1) 67 @) 79 3) 64 @) 96

P.T.O.
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118. & W fafedqe 5 Qe uoft wredr; anftn gem wm= fafeliqa 10 Qe 9ol weal. ="E

HTorETET 3R,
(1) S S () wufe S (3) Sl st (4) Ui =l

A man fetches water from a well in 5 sec. and a child fetches water from the same well in
10 sec. Hence the man has :

(1) more energy (2) more power (3) lessenergy (4) less power
119. TG Heirel HYE U

1) e wd (2) ueStws  (3) CH YA RS (4) T S

The short term agriculture loan is called as

(1) Crop loan (2) Soft loan (3) Term loan (4) Investmentloan
120. 3MYTFH TERAIEA SHF HIUH FHS AId ?

(1) e fg d=fasr Q) <A

(3) IR FTIRE (4) TR Heells

Which scientist is considered as the father of Modern Chemistry ?

(1) Laurent de Lavoisier (2) Dalton

(3)  Ernest Rutherford (4) Ivanovich Mendeleev
121. TUS oM FiMeAHR R0 sRvae! AUFRTRTE AT I

1) 2,43 (2) TAFEEE () TRl (4) Temefifer

Hariyali (cynodon dactylon) is effectively controlled by

(1) 2,4D (2) ~Glyphosate (3) Paraquat (4) Pendamethaline

122, HRRIE=A1 9T Yaaieh drsan &7 S HIvl el 2

1)  IRfE TR R (2) =i Frefer

(3) Y Tyvaran groar= gREal (4) BRI HH FO

What was the main objective of the seventh five year plan of Maharashtra ?
(1) Removing Regional Imbalance  (2) Eradication of Poverty

(3) Providing Pure drinking Water (4) To reduce the Unemployment
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123. 1987-88 WA WRATSAT Fo3e AT TEATTRTOTHES IV HEA YR el ?

(1) <LsiELemyg e Ty, (2) @R T AR HeTa

(3) TXY HeY HAH (4) WY ANR HAGH

Which agency has revised the commodity classification of India’s foreign trade
in 1987-88 ?

(1) DGCIland S (2) Ministry of commerce and trade

(3) Ministry of foreign affairs (4) Ministry of foreign trade

124. TFifed 271 YO WeAeTish! IV 9fgelt sAar sieh IR Srafered g ?

(1) dTE T e 2) sy Fafidiera o=

(3) Fftera % o gfea 4) o 3E el

Which among the following is the first Commercial bank of limited liability managed by
Indians ?

(1) Punjab National Bank (2) Oudh Commercial Bank

(3) Imperial Bank of India (4) Bank of Baroda

125. Geeish! v & g d 31 feam e ?

(1) TR o (2) S oA

(3) wa 3= ° (4) v A
Which of the following is not the function of R.B.1. ?

(1) Banker to the government (2) Banker’s Bank
(3) Credit control (4) Credit creation

126. FERA <hiIe] FHlt GH HI0A1d ST ?

(1) 1973 (2) 1974 (3) 1975 (4) 1976

When was the FERA Act passed ?

(1) 1973 (2) 1974 (3) 1975 (4) 1976
127. STk Faidd 2006-07 HEA SRAT=T o1 =l

(1y 0.2% (2) 1.8% (3) 1.5% (4) 2.5%

The share of India in the world-export was in 2006-07.

() 0.2% () 1.8% (3) 1.5% (4) 2.5%

P.T.O.
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I, UTe3 31 sficisht AT T Fael TRITART STl ThIvw! ?

0 (@) 0 0@ 0O

Which of the following figures shows mutual relationship between India, Nepal and
Sri Lanka ?

o O
M @ @) GC? () %) @

129. G weref I eI ST Thiel.

(1) THRH (2) U (3) e (4) BT

Isotopes are separated by :

(1) Crystallisation (2) Distillation (3) Sublimation (4) Filteration
130. YRAWE TR SRl __ % &F ST .

1 11 2y 22 3y 33 (4) 35

In India forest account _ % of total land surface.

1 11 2 22 3y 33 (4)y 35
131. TR = W@ ¥H 3.

(1) faem 2) A TEAFEES

(@) sifafee @) sffer

The chief constituent of Gobar gas is :

(1) Methane (2) Carbon dioxide

(3) Acetylene (4) Ethylene

132. HERI U9 Higel SN TTAT Shioe I giet 2

(1) 1992 (2) 1993 (3)y 1994 (4)y 1995
In which year, the Maharashtra State Women Commission was established ?
(1) 1992 (2) 1993 (3) 1994 (4) 199
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133. ufgean 9 gE= ST S WY oM A9 faw=n § dtem @i R, @ wien onfir e
SeAfegr=a St Ao S .
64:10::39:7
1) 13 2) 21 @) 12 (4) 100

There is some relation between 15t and 2"d number. The same relation is there between
3'd and 4th number. Then find the number in place of the question mark ?

64:10::39:7?
(1) 13 2 21 3) 12 (4) 100

134. SR 2x3=64

4 x5=108
7x8=1614
W 5x6=7
(1) 30 (2) 1012 (3) 1210 (4) 1415
It 2X3=064
4 x5=108
7x8=1614
Then 5x6= ?
(1) 30 (2) 1012 (3) 1210 (4) 1415

135. A 9 B ez wah v Hvi 30 e waM. W S & Seama 20 fagi B #m g
e, 3ol 1 Tehedl A 5 3foret 20 feaemd qof el Tehean B A o & fordt feermma ol ot
3Hd ?

(1) 50 fea®m (2) 55 feag (3) 60 feorg (4) 65 faam

A and B can reap a field in 30 days working together. After 20 days of starting the work,
B leaves the work and goes away. The remaining work is completed by A alone in 20
days. In how many days, B would have completed the same work if he had worked

alone ?

(1) 50 days (2) 55 days (3) 60 days (4) 65 days
136. 1888 FEH TS O SRR A T Horedl AT el g Bl

(1) =& (2) (3) WHER (4) YuUH

In the year 1888 Gopal Ganesh Agarkar started a newspaper titled .

(1) Maratha (2) Kesari (3) Prabhakar (4) Sudharak

P.T.O.
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TMfesgqed I T9ES AR

(1) TRE (2) STYERw

(3) TSTEdT (4) TRERE

The Home tract of Dangi breed is _ State.

(1) Gujarat (2) Andhra Pradesh
(3) Rajastan (4) Maharashtra

138.

TehHT Wishfdes W94 ‘Favourable’ & W6€ G1W4551CM?2 311 fafedrd, @ ‘Beautiful’ &8 fafear
A ?
(1) C215V3G5M  (2) C215U3G5M  (3) C21553H5M  (4) C21U53GUN

In a code language ‘Favourable’ is written as GIW4551CM2. How will, ‘Beautiful’ be
written ?

(1) C215V3G5M  (2) C215U3G5M  (3) C21553H5M  (4) C21U53GUN

139. FAATHROMY HHYH (AiFan) & gt o5 TS,

(1) fomr (2) o @) @ (4)  SfiEr
Normally Fermentation takes place because of :
(1) Virus (2) Fungi (3) Trees (4) Bacteria

140. 2001 =1 SFVATER TERTST=T St e 3R,

(1) 65% (2) 63% (3) 64% 4) 67%
According to 2001 census, the women literacy of Maharashtra is .
(1) 65% (2) 63% (3) 64% 4y 67%

141. Sfawess S e 19 WX fgreda e qdf ameelt. & qdf o S aese ?
(1) e (2) hife (3)  SAHMFUIE (4) 9@
Recently Archeologists discovered a 19 meter Buddha Statue in sleeping posture. In which
country they found this idol ?

(1) Sri Lanka (2) Korea (3) Afghanistan (4) Nepal

142. =T AE@ST 21 T hegl Fearshnet ?

(1) 1 ¥4, 1986 2) 1 e, 1986
(3) 1 WM, 1987 4) 1 T, 2005
When was the design of VAT adopted by 21 states ?

(1) 1st March, 1986 (2) 1st April, 1986

(3) 1st March, 1987 (4) 1st April, 2005
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M =
X |+
g I L;’ i
(3) o[ (4) iL“—Z]j _[M
@l
) (4) X
144. ST TSP DI AEH HEL Fed o1 ?
1) 319 2) 1Ty
(3)  hegaTren v fead (4) 20 Wgard
What is the date of presentation of Union Budget ?
(1) 31st March (2) 1st April
(3) Last day of February (4) 20th February
145. TR ‘Y&’ WeAadeh! SV HIAESH Tedies Fmi g ?
(1) =& aga fraeer (2) M gAa fhHweaH
(3) YR arga fraeer (4) 7d AW fadeeedr
Which one of the following colloidal systems is represented by fog ?
(1) Liquid in gas (2) Gasin liquid
(3)  Solid in gas (4) Liquid in liquid
146. W A SEUN 949 el
SREe, 3Tegd i, qFEH, thel 3T8Hg
(1) siRer (2) orgA e (3)  HERH (4) el swE
Choose the odd alternative in the group.
Birbal, Abdul Fazal, Tansen, Faiz Ahmed
(1) Birbal (2) Abdul Fazal (3) Tansen (4) Faiz Ahmed

P.T.0O.
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147. men(fSR) wefier fafm s 9 gy q S 3.
(1) SOSIE 9 92t SN ad (2)  AEHIA J 92U SSUR da
() =HA-H 9 R’ (4) drea fedda -=
The characteristic flavour and aroma of Ginger is due to and
(1) Oleoresin and Volatile oil (2) Niacin and Volatile oil
(3) Vitamin-C and Iron (4) Iron and Vitamin-A
148. G WE0 W ATEE FA S A B WU :
(1) FIh (2) ST (3) P IuwE (4) HeR A
Communication has become cheaper and faster because of :
(1) Computers (2) Ionosphere (3) Satellites (4) Solar Cell
149. @eitae fodma ve s,
2o, B, S, HH
1) < (2 wW (3) Site (@) FH
Odd man out
Eye, Hand, Tongue, Ear
(1) Eye (2) Hand (3) Tongue (4) Ear
150. ‘TS’ STH FHIVE TEUMEI ?
(1) = A% <3 2) TR TR
(3) fouism g (4) i .TH @ee
Who came to be known as ‘Deshbandhu’ ?
(1) Acharya Narendra Dev (2) Rajendra Prasad
(3) Chittaranjan Das "~ (4) G.S. Khaparde
151. STy fUsmi e TSt I ¥ e 3fed ?

(1)  fermoare Tt afem 2) 25 feremEy/ Rt
3) T Wagw » (4) =@ w6
Productivity of pulses is improved by .

(1) Seed Treatment with Rhizobium (2) 25kgN/ha

(3) Plant protection (4) All the above




ALM 37

152, Sfeararel anid Fieied S9at MeeR vl e @ feem

(1) sfEar (2) A SRR (3) e g (4) e A

ordered the soldiers to fire at the meeting held in Jallianwalla Bagh.

(1) Odwayer (2) General Dyer (3) Lord Curzon (4) Lord Irwin
153. THEAT HHUTE ¢ 716 3

(1) SAfF (2) didwm@EAfiEn (3) g (4) <gHEA

Blood Cancer is otherwise called as :

(1)  Anaemia (2) Polycythemia (3) Leucopenia (4) Leukaemia
154. YIRG STARET 37U FHIRHA YRAW SV TLTEUS STIHI Fel 2

1) W= 2) TS (3) R (4) I

Following Indo-US Nuclear deal India signed nuclear deal, with which country ?

(1) France (2) England (3) Germany (4) Korea
155. JeAERT= S STgE T el

65:101::7?:197 v

(1) 85 (2) 145 (3) 140 (4) 170

Choose correct alternative in the place of the question mark.
65:101::7:197

(1) 85 (2) 145 (3) 140 (4) 170
156. TIRIY 3TV G a1 T SATIRE TR T,
(1) sfew (2) sfaa
(3) dfew amfor siala (4) STRUEE
The trade between Maharashtra and Punjab State is called as trade.
(1) External (2) Internal
(3) External and Internal (4) International
157. TEERYTEl fagia vl Hiee ? ,
1 =LA (2) fuer () ufewd (4) =
Who put forth theory of gravitation ? '
(1) Newton (2) Napier (3) Edison (4) Bohr

P.T.O.
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158. HeHMI ARAEA SISt FUad ferd! sherdis= T 378 ?
(1) 5000 (2) 10,000 (3) 2000 (4) 2250
What is the average requirement of calories for common Indian ?
(1) 5000 (2) 10,000 (3) 2000 (4) 2250
159. 9T YUl Sierer Qv & aTeqdl FAfad Tgard; wRul .
(1) =afsg (2) HIUATE FTH SR
(3) g (4) fafoe SRR
Aquatic plants and animals survive in the cold region because of
(1) a dew point (2) an anomalous behavior of water
(3)  humidity (4)  specific heat capacity
160. <farr SfemmTer fFHear derde= Zhan

1) 50% 2) 65% 3)  72% 4) 31%

The percentage of the illiterate population of South Asia .
(1) 50% (2) 65% 3) 72% 4) 31%

161.

S 15X3=27, 9xE=559F 11 X7=59 W 12x5="?

(1) 60 (2) 34 3) 17 (4) 43
If 15%3 =27, 9x8=55 and 11x7="59 then 12x5="7
(1) 60 2) 34 3) 17 (4) 43

162.

Gl sitsid * feegr=an ST shiordn 3a 319 ?

3 = 4
+
g * 3
T2 9 6
14 = 3
1 1 2) 0 3) 5 4) 2
In the following operation which number will be in the place of (star) * sign ?
3 = 4
+
g = 3
T2 9 ¢
14 = 3
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163. WIfecT SThICHIET 2008 =1 WIS Wifeeara] JTRR U fHesre ?
1) TSH TEE (2) W SEHHR T
(3) Hwa Bg™ (4) I A
Who received the Sahitya Academy Award for Marathi literature in 2008 ?
(1) Rajan Gawas (2) Prof. Chandrakumar Nalage
(3) Keshav Meshram (4) Sham Manohar
164. NAWET d GMET GEAT IS HRRA T ?
1) == (2) UM @) fweldd (4) d
Where the International Rice Research Institute is located ?
(1) China (2) Japan (3) Philippines (4) India
165. TESIE GEEd HAIEE UG stefbeed’ S AsHd GAfauaa ST ?

(1) e I (2) HEE A (3) EEEt A (4) T IS

Which plan recommended Zero Based Budgeting (ZBB) as a step to control public
expenditure ?

(1) Fifth Plan (2) Sixth Plan (3) Seventh Plan  (4) Eighth Plan

166.

A,B,C,D,E, F & W8l iy GuRER s U Sl HeMN Weed 3.

() E= D =41 oA SNH e,

(I) Cd A nftn B =0 783 3T,

() F @ E 37 A =1 e} 3T,

T B A1 ST SS[ell Il ?

1) A (2) C 3) D (4) E
A, B, C, D, E, F are six friends sitting face to face in a Ch'cﬁlar ground and playing.
(I)  Eis on the left side of D.

(I) Cis between A and B.

(IT) F is between E and A.

Then who is on the left side of B ?

1 A 2y C 3) D 4) E

P.T.O.
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167. G 2007 = ‘MR a1 fhammn aHad & ?

(1) o1 g (2) o =S
(3) TEER UEtd (4) TAIE
Who won ‘Maharashtra Kesari’ title in 2007 ?
(1) Aba Sul (2) Amol Buchade
(3) Chandrahar Patil (4) Munna Shaikh
168. TR T 91Y YMAHTMHIE ITRATT AT THEHH A1d I 2
(1) AAEE gEgihre (2 WACE TG
() FARGIU TSR (4) TEIRACE TS HUE
‘Freon’ used as refrigerants is chemically known as :
(1) Chlorinated hydrocarbon (2) Fluorinated hydrocarbon
(3) Chlorofluoro hydrocarbon (4) Fluorinated aeromatic compound
169. el sTeif foer o - |
(I) 2009 =0 TrRE FaSUER TaeRysi=N FoaM Aciedl IRAGHT=A1 Tayfier TR o7&,
() = FacT g ¢ TR T 1=efag 31easl 1A,
(1) e (I) R TR (2) T (II) SR 3T
(3) 2= (1) F (II) IH TR (4) <R (D) 9 (I1) TR 3T
Consider the following :
(I) 2009 Lok Sabha elections would be conducted on the background of Delimitation of
the Constituencies.
(I) Chief Election Commissioner is the Ex-Officio Chairman of the Delimitation
Commission.
(1)  Only (I) is true (2)  Only (II) is true
(3) Both (I) and (II) are false (4) Both (I) and (II) are true
170. ‘Smifaes Tfaeifas arar’ a1 JEa qHIfay FUGME! 94 T <91 Yeae sfamed A=

g
(1) herh!-Tawe & @R 2) SNYR-FEU oA A
() ToreT-hEag & A (4) fee-oTmn W oA

The Railway which was recently made a “World Heritage Site” with the UN approving it
for inclusion in the World Heritage list is

(1) The Kalka - Shimla rail line (2) The Jodhpur - Howrah line
(3) The Shimla - Coimbatore line (4) The Delhi - Agra line
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171. 1 994X U .9,
(1) 100 (2) 1000 (3) 10,000 (4) 10,00,000
1 meter cube = cm cube.
(1) 100 (2) 1000 (3) 10,000 (4) 10,00,000

172. S{-20 TN 15 adaw 2008 USi Setett R Iiug shioren vRad el ?

(1) (2) i (3) (4) w=
In which city the Summit of G-20 countries took place on 15th November 2008 ?
(1) Paris (2) Washington (3) New York (4) London

173. SRENTE Haid Hi8] SRl REM] IS 3% ?

1) TR (2) I TR (3) ImSW 4) Wil
Where is the biggest sugar factory in Asia ?
(1) Shrirampur (2) Pravara nagar (3) Ajara (4) Sangali

174. ANEsle dooisal YehOTdIe] ShivfedT SheTHH Y=l ST v ey v foat emea ?
(1) <eH 39 ‘&' (2) e 41 (3) e 40 (4) hetH 38

Which article in the chapter of Directive Principles, directs the states to organize
Panchayats ?

(1) Article 39 A (2) Article 41 (3) Article 40 (4) Article 38

175. fasamit d=re fame amrra: T fafve simmufase 9e wehd "', SR -

(1) foa goa e (2) 3T oA TS
(3) &a foer v SeaTes (4) edreN ThHAgS

The reason, television signals cannot be received ordinarily beyond a particular distance
is due to the :

(1) Weakness of the signal (2) Weak antenna
(3) Absorption of signal in the air (4) Curvature of earth

176. RATT GO YR SR T Seied « * STfemar sty widarqul sgearsal ar aian’
JUEHR Ji R,
(1)  weTe i (2) I AFIGT AT
(3) IR TEE (4) gt gfea s
The integral principles of India’s foreign policy : “‘Non-Alignment and five principles of
peaceful co-existence’ were propagated by .
(1) Mahatma Gandhi (2) Lal Bahadur Shastri
(3) Jawaharlal Nehru (4) Ms. Indira Gandhi

P.T.O.
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177. A Foold] Tesd! Aievardra] HIYHE FARTT HIaw.
(1) wwww 20 fufqw (2) smsEty 20 fufaw
(3) w.uw 100 fufaam. @) fa,; 50 fafrm
Fruits drops in sweet orange is controlled by growth regulator.
(1) NAA 20 ppm (2) 1BA 20 ppm
(3) NAA 100 ppm (4) GA; 50 ppm
178. STTfaek aHfea [ECHIRISNACaGIGE
1) T&H et 2) 219 (3) 5 (4) 23T
The World Forest day is celebrated on
(1) 1st July (2) 21st March (3) 5th June (4) 23rd March
179. 99 8 ¥ 3% Thehad A1I%A TIR BT TT8M 9 HISH Gl wieh fohall ?

1 9 @) 19 @) 11 4) 18

What is the difference between the biggest and the smallest numbers which can be made
from 9 and 8 ?

1 9 (2) 19 @) 11 4) 18
180. YRAT F8T Yo ATHNT= LTI Hegl At 2

(1) 1960 (2) 1965 (3) 1955 (4) 1975

When was Agricultural Price Commission established in India ?

(1) 1960 (2) 1965 (3) 1955 (4) 1975
181. WAl IV THEA ST 2

(1) e (2) TTESINH § HERE

(3) R 3 WAy (4) ESH 3 QRMEH 9 R

A fertilizer contains which of the following ?
(1) Nitrogen (2) Nitrogen and Phosphorus
(3) Potassium and Phosphorus (4) Nitrogen and Potassium and Phosphorus
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182. o< &1d GURUT YAMGUAEIET 1991 ALY Hivwean FrHe= Ao A et ?

(1) TE aid (2) WiHe |

(3) . TR |fad (4) TR wfid

Which committee was established in 1991 for suggesting betterment of the financial
sector ?

(1) Nariman Committee (2) Narasimhan Committee

(3) C. Rangarajan Committee (4) Hajari Committee

183. S ‘HI' 8 JAGTE 89 311 9 ‘RS’ B 31&8R T2 98 31 SRAfaet 3N K= P 3fd ¥ FU 3781
D 3A&Rr=A1 fade e ?

1 w 2) R 3 P 4 L
If “HI’ is denoted as 89, ‘RS” as 98 and K=P, then which alphabet will be equal to D ?
1) w (2) R 3 P 4 L

184. sifAhed g WHRA ‘TSR AE 1l U 37 THars’ = T I
oA U Sael o,
(1) TR (2) e @ (4) wEw

The Union government has recently approved establishment of the ‘Institute of Nano
Science and Technology’ at

(1) Bangalore (2) Mohali (3) Pune (4) Hyderabad

185. F THAETT A (et =) el FeX hod e ?

(1) 1961-64 (2) 1966-69 (3) 1971-74 (4) 1975-78

When the three one year plans (rolling plan) was implemented ?

(1) 1961-64 (2) 1966-69 (3) 1971-74 (4) 1975-78
186. RATEAT O U=aeh M= TG T TR he.

(1) W mEEHleE 2) JR mes

(3) .2 E (4) YT e

The draft out-line of second five year plan was prepared by

(1) P. C. Mahalnobis (2) D.R. Gadgil

(3) C. D. Deshmukh (4) Pandit Nehru

P.T.O.
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Wi (FAsS) HITHT S (IEY) TIeieTeh! HITR TSI TEUrw 2

(1) z&. g () w3 e () 9T (4) T 3T
Among the following scientists, who is the Father of Hybrid cotton ?

(1) E.B. Patel (2) C.T. Patel (3) Y.L.Ping (4) S. Ochoa

188.

QA o7 SFAEY WA Jaah A\, SR Jask O 9 Fifera gaa O 3 Saae omed. 6 &
& 1 qHAd ?

(1) SR o ) fafea R go9%
() wedna fafam SR gow (4) eIk faeE gaw

In the venn diagram youth in village is shown in A, unemployed youth is shown in O and
educated youth is shown in ). What does the number 6 represent ?

(1) Unemployed youth (2) Unemployed educated youth
(3) Educated, unemployed youth in village. (4) Educated youth in village.

189.

TEREE S wemne Sis waid W 3.
(1) Y - ) HeE -
(3) Y - MmN : (4) O - fasEETe
National Highway has the maximum length in Maharashtra.

(1) Dhule - Kolkata (2) Mumbai - Chennai
(3) Mumbai - Agra _ (4) Pune - Vijayawada




" ALM 45

190. AT SATEAT AIGITE a1 g1 AT SRS gadiel I .

(1) = Far (2) HEE B (3) e (4) ZEE
The velocity of sound waves in moist air is its velocity in dry air.
(1) less than (2) equal as (3) greater than (4) double

191. 3TN 4 AT A FHAR 3R, ANINA T AigaHat IR JUaR fhdt areen 8 ?
6 ATEgaR

(1) 10 AW 2) 8 =R 3) 4 TR

4)

If fourth August falls on a Wednesday today, what will be the date on a Wednesday after

three months from today ?

(1) 10 November (2) 8 November (3) 4 November

4)

6 November

192. 1 TR S[EUIR UE ST,
567, 945, 594, 738

(1) 667 (2) 548 (3) 693 (4) 746

Find out the term matching this group.

567, 945, 594, 738

(1) 667 (2) 548 (3) 693 (4) 746
193. THEA JAR gHmoT 9. 3T,

1) 21 2) 223 3) 24 (4) 24.3

The protein content in Tur Seed is %.

1) 21 2) 223 3) 24 4) 243
194. YR Frafden wAd 8 sTEen S5 It e 2T

(1) wafHs 9% (2) TOIER %]

(3) HRETTRRI 3 (4) G T g

The structure of Indian exports is changing in favour of

(1) Primary goods (2) Quality goods

(3) Manufactured goods (4) Mineral and fuel

P.T.O.
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195. 561211 : 10111918 : : 981415 : ?
(1) 15232214 (2) 15162423 (3) 16152324 (4) 15233345
= WY Tt Fe fiftger st ote. e s S .
This question is related with the following number pyramid — Observe it and answer the
question.
1
2 3
5 6 7 8 9
10 11 12 13 14 15 16
17 18 19 20 21 22 23 24 25
26 27 28 29 30 31 32 33 34 35 36
37 38 39 40 41 42 43 44 45 46 47 48 49
196. T SRIYRA 20 HIeX IWHS Al 9 Jhs T 15 WX Ael, Fer <farer faien et 10 Hier i
IR hl 9 Ifeaiehe da 15 Hiel 3 arad, T W =g o fovien 31 ?
(1) dfeem 2 b (3) <fam (@) TW
I went 20 meters to the north from my house. Then I turned 15 meters towards the east
from where 1 went 10 meters to the south and finally went 15 meters to the west. In
which direction am I from my house ?
(1) West (2) East (3) South (4) North
197. Wieed-Hie-9 71 20 Wl 2004 ST S =rwiea1 feoe wmafmdier sehnd Sefear Ta. &= Hm
WeieTdent Tohl STEINMUT HIAELE .
(1) IeHEH
(2) it g A oy
(3) Y AT YA Fed
(4) R Hrar fagid
Gravity Probe B was launched on April 20th -2004 on a two-year mission to test unproven
aspect of :
(1) Meteoric showers
(2) Saturnian moons and rings
(3) Transit of Venus across the face of the Sun
(4) Einstein’s theory of relativity
198. o3 NV e e ee] wehd AL
(1) g (2) fagm (3) fowemm  (4) alUE R

We cannot change natural laws because of .
(1) magic (2) science (3) belief (4) none of the above
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199. fo=r=n St sTeh 31&W 307 3ieh STHeleT TA I,

l

A G M S * {

49 54 59 64 * I
LX , Z . W .

Which is the correct alternative of missing letter and number in the following ?

A G M S
49 54 59 64 *
oY y Z oW LT
200. R g 7ice fSerndier SRi=n Uien TEUTATA.
(1) Teseme (2)  TeEUT T
(3) e om (4) fErel g
The mountain ranges in Parabhani and Nanded districts is knownas
(1)  Melghat (2) Galana Ranges
(3) Nirmal Ranges (4) Hingoli Ranges

-00o0-

P.T.O.
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o hIUTATS! ST / SPACE FOR ROUGH WORK



